YHuBepcanbHbIU
dnaHueBbIN aganTep

series AUN

NMPUSHAYEHHA
YHiBepcanbHi ¢pnaHueBuMiA aganTep BUKOPUCTOBYETLCA A1A
3'eHaHHA TPY6 3 PisHMUX maTepianis.

OCOB/INBOCTI AU3ANHA

LLinpokuit gianasoH

YHiBepcanbHe ceepaniHHA ana cymicHocTi 3 PN10 ta PN16 KiHui
60ATiB 3aXMLLEHI NIACTUKOBMMM KOBNAYKaMm

TEXHIYHI XAPAKTEPUCTUKHU

dnaHueBi KiHLeBi 3'egHaHHA BignoBigHO oo EN1092-2:
PN10/PN16

MaKcumanbHuii poboumnin Tuck PN16 / 16 bar

Po6oua Temnepatypa O0C- +700(

Konip RAL5015

MopoluKoBe enoKcuaHe NoKpUTTA 250 MKM

BonTu, raku Ta waibu - Byrneuesa cTanb 8.8 rapaye oLMHKOBAHA.
MaKcMManbHUI KyT BiAXUIEHHA Ha KOXHOMY KiHUj 4 rpaayca

DN DE D H Bolts Bolt KG BLUCAST
qty. ref. no.

50 57-74 164 75 M12x120 4 34 AUNO50

65 63-85 182 75 M12x120 4 36 AUNO065

80 85-107 192 75 M12x120 4 4.4 AUNO080
100  107-132 224 75 M12x120 4 5.2 AUN100
125 132-158 246 75 M12x120 4 7.3 AUN125
150 158-184 283 75 M12x120 4 74 AUN150
200 200-225 333 75 M12x140 4 10.2 AUN200225
200 218-244 333 75 M12x140 4 10.2 AUN200
225 243-269 375 85 M12x140 6 1 AUN225
250  266-295 394 85 M12x140 6 133 AUN250
300 315-349 440 85 M12x140 6 17.6 AUN300
350 351-378 481 111 M14x180 8 29 AUN350
400  400-420 526 111 M14x180 8 31.2 AUN400420
400 417-437 536 111 M14x180 8 325 AUN400

500 500-532 715 113  M16x180 10 51 AUN500532
500 526-546 618 113 M14x180 10 47 AUN500
600  630-650 734 115 M14x180 10 63 AUN600

No. Item Material

1 Bracket Ductile iron EN-GJS-500-7

2 Body Ductile iron EN-GJS-500-7

3 Bolt 8.8 carbon steel hot dip galvanized

4 Sealing gasket EPDM

DE 3

 — 7 Rl 7
iy
}?/

&

%

\i

e G X
a”
‘%\‘X\\'\V

1
&m\\w
&s\\\w\m\\\\w&\\

J

Allillustrations, technical data, dimensions (in mm) and weights (all weights specified in kg) are non-binding and are subject to change

YHuBepcanbHaa mydra

series MUN

NMPU3HAYEHHA
YHiBepcasibHa MydTa BUKOPUCTOBYETLCA A1 3'€4HAHHA
TPy6 3 pisHMX maTepianis.

OCOBJ/INBOCTI AN3ANHA
LUnpokuit gianasoH
KiHui 601TiB 3aXMLEeHi N1aCTUKOBMMM KOBMaYKamm

TEXHIYHI XAPAKTEPUCTUKU
MakcumanbHuii pobounii Tuck PN16 / 16 bar

Pobouya Temnepatypa 0°C - +70°C

Konip RAL5015

MNopolwKose enokcuaHe NOKPUTTA 250 MKm

BonTu, raku Ta wanbu - Byrneuesa ctanb 8.8 rapsye
OLUMHKOBaHa. MaKcumanbHuin KyT Bi,D,XVIneHHﬂ Ha KOXXHOMY
KiHUj - 40

7))
O
<
=
Q.
=
O
(Y
a
P
<
%)
(o
O
|—
a
<
(@]
<<
L
O
P
<
—
1

DN DE D H Bolts Bolt KG BLUCAST
qty. ref. no.
50 57-74 164 100 M12x180 2 26 MUNO050
65 63-85 182 100 M12x180 2 28 MUNO65
80 85-107 192 100 M12x180 4 37 MUNO080
100 107-132 224 100 M12x180 4 4.6 MUN100
125 132-158 246 110 M12x190 4 5.5 MUN125
150 158-184 283 110 M12x190 4 6.9 MUN150
175 192-210 304 110 M12x190 4 9.2 MUN175
200 200-225 333 130 M12x210 4 9.7 MUN200225
200 218-244 333 130 M12x210 4 9.7 MUN200
225 243-269 375 130 M12x210 4 1 MUN225
250 266-295 394 130 M12x220 6 12.5 MUN250
300 315-349 440 130 M12x220 6 153 MUN300
350 351-378 481 130 M14x250 8 27 MUN350
400 417-437 536 130 M14x250 8 28 MUN400
500 526-546 618 130 M14x250 10 385 MUN500
600 630-650 734 130 M14x250 10 59 MUNG600
No. Item Material
1 Bracket Steel
2 Body Ductile iron EN-GJS-500-7
3 Bolt 8.8 carbon steel hot dip galvanized
4 Sealing gasket EPDM
D
3
1 _ DbE
iy K.
4/ \ Al
2 ) } / e
| | |
Il 4 } |
T

| DE

SLUCAST @

making water accessible

riaPOTEPM





